Efficiency vs Dxy(PV)

< 0.8

efficiency vs dxy(PV,

=20 -15 -10 -5 O

5 10 15 20
TP dxy(PV) (cm)

[ Efficien

—"— DQM_original_1000evt

—— DQM_fitted4_1000evt

1.2

=

efficiency vs dxy(PV,
o
© i
T 1

©
fe)

°
N

0.

Efficiency vs Dz(PV)

0.2 04 06 08
TP dxy(PV) (cm)

1.2

efficiency vs dz(PV)

I
N
J

o
[N}
T

o
fe)
T

T
i

o
fo°)
T

Ratio

0.95!

Efficiency vs Dz(PV)
1.2

10 20 30
TP dz(PV) (cm)

efficiency vs dz(PV)
o
o

o
o2}

04 : :
[ i | |

[y
.

0.5 l
TP dz(PV) (cm)




	Contents
	Page 1


